Best model for HELP J120855.388+003312.041 at z = 0.747 x2=6.04
OPTx2=7.1 IRy2=0.44 threshold (OPT IR)=13.98 [um]

102 3 : Stellar attenuated
= 1 Stellar unattenuated

] . —— Dust emission
101 3 —— AGN emission
3 = Model spectrum
] : ® Model fluxes

. Observed fluxes
100 - : m

Flux [m])y]

=f= (Obs-Mod)/Obs

[
= o
PO S R S N T N 1

] i
] |
S
|

|

|

I

|

|

|

|

|

|

|

I

|

|

|

|

I

|

|

|

|

|

|

|

I

|

|

|

|

|

|

|

]

T T L T L T L T L | T T EM
10° 10! 107 103 104 A
Observed wavelength [um]



